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Group 1

For items 1 through 6 write “Yes” on your answer sheet if the item is a reason a bank would dishonor a check; write “No” if it is not a reason.

1. The check is postdated.

2. The check has images in the background like rainbows or laughing clowns.

3. The check appears to be altered.

4. The check writer began using black ink then switched to blue ink to finish writing the

     check.

5. The check writer wrote the date 2-5-06 instead of writing February 5, 2006.

6. The signature of the person who signed the check does not match the one on the

    signature card at the bank.

Group 2

The adjusted trial balance columns of the work sheet of Blackberry Co. (a service business) for the year ended December 31, 2005 revealed the following information:

	Total Assets
	$74,285 

	Total Liabilities
	16,840

	Owner’s capital account balance
	44,725

	Owner’s withdrawals
	6,000

	Total Revenue
	95,210

	Total Expenses
	76,490


The general ledger also revealed that the owner made two investments in the business during 2005 as follows:

	July 18, 2005
	$15,000

	September 14, 2005
	8,000


For questions 7 through 12, write “True” if the statement is true; write “False” if it is false.

  7. The net loss for the year 2005 was $18,720.

  8. The balance in the capital account on December 31, 2004 was $21,725.

  9. The first closing entry would include debit(s) to the revenue account(s)

totaling $95,210.

10. The second closing entry would include a credit to Income Summary of $76,490.

11. If Blackberry Co. does not use a separate financial statement that reports the

changes in owner’s equity from the beginning of the year to the end of the year,

    
then this information could be presented in the owner’s equity section of the

    
balance sheet dated December 31, 2005.

12. The balance of the capital account on the post-closing trial balance dated

    
December 31, 2005 was $57,445.

Group 3

Match each transaction in questions 13 through 18 to the effect of the transaction on the accounting equation given below.  Write the correct identifying letter on your answer sheet.  An identifying letter may be used more than once.

	
	Assets
	Liabilities
	Owner’s Equity

	A.
	Increase/Decrease
	Unaffected
	Unaffected

	B.
	Increase/Decrease
	Increase
	Unaffected

	C.
	Increase/Decrease
	Unaffected
	Decrease

	D.
	Increase
	Increase
	Increase

	E.
	Increase
	Unaffected
	Increase

	F.
	Increase
	Increase
	Unaffected

	G.
	Decrease
	Decrease
	Decrease

	H.
	Decrease
	Decrease
	Unaffected

	I.
	Decrease
	Unaffected
	Decrease

	J.
	Decrease
	Decrease
	Increase

	K.
	Unaffected
	Unaffected
	Unaffected

	L.
	Unaffected
	Increase
	Decrease


13. Issued a check for $637 in payment of our $650 account less a 2% discount.

14. The owner invested $5,000 in the business.

15. Received a payment from a customer when terms were n/30.

16. Recorded adjustment for expired insurance.

17. The owner made a cash withdrawal.

18. Bought equipment with a down payment and the balance on account.

Group 4

At the beginning of the fiscal year, Butterscotch Company’s liabilities were $32,860.  During the year, assets decreased by $6,750.  At the end of the year, assets totaled $133,870.  Liabilities increased by $4,270 during the year.  The owner made withdrawals of $5,000, and invested $2,000 in the business during the year.

For questions 19 through 21, write the correct amount on your answer sheet.  

19. What was the total owner’s equity at the beginning of the year?

20. What was the total owner’s equity at the end of the year?

21. What was the net income or net loss for the year? 

Group 5

Reconcile the bank statement using the following T-account form.  (The form will not be reviewed by graders.)  Then answer questions 22 and 23.
	Violet’s Garden

	Bank Reconciliation

	December 31, 2005

	Bank Statement Balance, 12/29
	
	Checkbook Balance, 12/31
	

	Add: 
	
	Add:
	

	
	
	
	

	Deduct:
	
	Deduct:
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


On December 31, Violet received the company bank statement dated Dec. 29 and reviewed it along with other accounting records and found the following facts:

  1. The ending bank balance was $124.86

  2. The checkbook balance on Dec. 31 before reconciliation was $2,585.69

  3. The bank charged $11.25 for the month’s service charge

  4. The following checks were written in November, were outstanding in November, and still did 
      not appear on this bank statement:

      


check #6077…$150.00

check #6089…$35.79

  5. The following checks were written in December and did not appear on this bank statement: 

 


check #6105…$265.98

check #6108…$382.10


      

check #6106…$45.12


check #6109…$28.42

  6. A check in the amount of $65.50 from Jane Curtain that Violet deposited on Dec. 16 was
      returned by the bank for insufficient funds.  The bank charged Violet’s account $25 for
      handling the NSF check.  No journal entry has been made yet by Violet for the NSF check or
      its related fee.  

   7. A deposit of $3,859.62 made on Dec. 30 does not appear on the bank statement.

   8. A check Violet wrote for $875 made out to Marvin Gardens was lost in the mail and had
      never been cashed.  Violet requested a stop payment order, which cost $15 and was issued 
      by Violet’s bank on Dec. 29.  Violet has not yet recorded this in the checkbook nor has she 
      prepared a replacement check.

  9. Violet’s review of the bank statement reminded her that she had used the debit card on this
      account to make a $37 payment at the post office and forgot to record it in the company
      checkbook.

10. Violet became concerned about her memory when the bank statement revealed an
      electronic funds transfer to a vendor for $229.87 that she forgot to record in the company
      checkbook.

For questions 22 and 23 write the correct amount on your answer sheet.

22. What is the total of the deductions listed on the checkbook side of the T account

      form?

 *23. What is the reconciled bank balance as of December 31, 2005?
Group 6

Cotton Candy Co. owed the three suppliers $10,495 as of January 31, 2005.  On February 28, 2005 the balance of the controlling account for Accounts Payable had decreased by $2,385 since the beginning of the month.

From Cotton Candy’s

General Ledger:                           Accounts Payable
	
	                    (2-1-05)

	
	

	(Feb 2005)__________
	_________  (Feb 2005)

	
	

	
	                     (2-28-05)

	
	


Cotton Candy’s Accounts Payable Subsidiary Ledger:

           Peppermint Co.                                 Debit
      Credit          Balance

	2-1-05
	
	
	4,690

	Feb 2005
	3,770
	
	4,645


           Almond Co. 

 

       

Debit
      Credit
     
Balance

	2-1-05
	
	
	

	Feb 2005
	
	1,670
	1,640


           Vanilla Industries 


       
Debit
      Credit
     
Balance

	2-1-05
	
	
	3,785

	Feb 2005
	2,500
	
	


For questions 24 through 26 write the correct amount on your answer sheet.

24. What is the balance of the Vanilla Co. account on 2-28-05?

25. How much was paid to Almond Co. on account in February 2005?

 *26. What was the total amount of purchases on account by Cotton Candy for the

      month of February?

Group 7

Use the following information (arranged in alphabetical order) to answer questions 27 through 34.  Write the correct amount on your answer sheet.  All accounts have normal balances.
	Cost of delivered merchandise
	74,207

	Cost of merchandise available for sale
	100,435

	Gross profit
	46,680

	Net purchases
	68,625

	Net sales
	116,700

	Purchases
	               ?

	Purchases discounts
	               ?

	Purchases returns and allowances
	3,105

	Sales
	124,860

	Sales discounts
	                ?

	Sales returns and allowances
	4,290

	Transportation in
	3,605


 *27. What is the amount of beginning inventory?

28. What is the amount of ending inventory?

29. What is the amount of purchases?

30. What is the amount of purchases discounts?

31. What is the amount of sales discounts?

32. What is the amount of cost of merchandise sold?

 *33. What is the amount of net income or loss if expenses were $49,325?

 *34. What is the amount of net income or loss if expenses were $40,255?

Group 8

Refer to Table 1 on page 9.  Write the identifying letter of the best choice on your answer sheet that most closely matches each of the following (items 35 through 53).

35. The amount of federal income tax to be withheld from each employee’s total 


earnings is determined from tables prepared by the Internal Revenue Service found 


in this IRS publication.

36. A bank form listing the cash and checks to be deposited

37. The employer’s quarterly federal tax return relating to payroll taxes withheld and the 


employer’s payroll tax liability 

38. A form that lists the items included in a shipment

39. A check that a bank refuses to pay

40. A form that summarizes an employee’s earnings and withholdings for the calendar 


year that must be given to the employee by January 31 of the following year

41. A form the buyer receives that describes the goods bought, the quantity of each 


item, the price of each item, and the total amount due to be paid to the vendor

42. A form for recording transactions in chronological order

43. An internal form an employee uses to request approval that certain items be

purchased by the purchasing department
44. A brief written message that describes a transaction that takes place within a 


business often used if no other source document exists
45. A business form giving written acknowledgement of cash received 

Group 8 continued

46. An IRS form that employers use to report unemployment taxes

47. A demand by the drawer that the bank not honor a certain check

48. An internal record that contains all of the payroll information related to a specific 


employee

49. A form showing proof of a petty cash payment

50. A written offer to a supplier to buy certain items

51. Employee’s Withholding Allowance Certificate

52. A business form ordering a bank to pay cash from a bank account

53. A form that summarizes the payroll for one pay period and shows total earnings, 


payroll withholdings, and net pay of all employees

Group 9

Sara Lee works in the offices of Mailers Unlimited, a marketing firm that prepares and mails advertisements on behalf of their clients.  It is Sara’s job to stuff various advertisements and brochures into envelopes and apply a mailing label.  (A machine seals the envelope and prints postage.)

Sara is paid using the piecework incentive wage plan, which includes a guaranteed hourly rate (or base rate) regardless of the number of units produced in a day.  Her base rate is $72 per 8-hour day.  Mailers Unlimited hired engineers to perform time and motion studies.  The engineers determined that a single unit is equal to 60 completed envelopes and the standard time required for producing a single unit is twenty minutes.  The incentive rate per unit is the base rate divided by the standard unit rate.
Sara worked eight hours a day during the semimonthly period January 2-13.  Her payroll records for January 2-13 are summarized in the following table.

	Date:  January(
	2
	3
	4
	5
	6
	9
	10
	11
	12
	13

	Unit Production(
	25
	30
	32
	20
	28
	23
	26
	30
	32
	26


For questions 54 through 57 write the identifying letter of the best response on your answer sheet.

54. The standard rate for an 8-hour day would be _?_ units.


A. 9          B. 24          C. 60          D. 180          E. 480          F. 1,440

 *55. What is Sara Lee’s incentive rate per unit?


A. 5 cents     B. 15 cents       C. 33 cents     D. $1.20       E. $3.00      F. $8.00

**56. What is the amount of Sara Lee’s gross earnings for the period January 2-13?


A. $738       B. $764.40       C. $816       D. $831       E. $1,016  

57. During the next semimonthly period, January 16-27 (or ten work days), Sara worked 

consistently
producing 23 units per day.  What is the amount of her gross earnings 

for this time
period?


A. $690      B. $720      C. $750       D. zero earnings and she would be reprimanded
Group 10

Table 2 on page 10 shows the Employee Earnings Record of Cherry Maples employed by Beekler Co.  All the information presented is correct.  The missing information can be determined from the data given.  Round all answers to the nearest cent.  Beekler’s payroll policies and other information are also shown in Table 2.

For questions 58 through 64, write the identifying letter of the best response on your answer sheet.

58. Cherry’s standard overtime rate of pay per hour is

A. $10       B. $15       C. $20       D. $30       E. $800

 *59. How many overtime hours did Cherry work on May 19?

A. 9
  
     B. 10         C. 12         D. 14         E. 18          F. 20

60. What is Cherry’s gross earnings for the week of April 28?


A. $399.78      B. $444.69      C. $800      D. $1,020      E. $1,040      F. $2,686.67

 *61. What is Cherry’s net pay for the week of May 26?


A. $676.69      B. $704.21      C. $766.69      D. $770      E. $794.21

 *62. What amount of employee tax withholdings and employer payroll taxes (for the first
quarter) did Beekler
Co. owe to the IRS that would have been reported on

Form 941?


A. $286.11      B. $405.79
   C. $572.22       D. $785.79
      E. $952.22

 *63. What amount of federal unemployment tax is owed just for the week ending Apr. 28?


A. $3.84       B. $4.48       C. $8.32       D. $13.44       E. $20.48       F. $24.96

 *64. What amount of gross earnings for the week ending May 12 is taxable for SUTA?


A. all of it           B. $280          C. $380          D. $720
Group 11

For questions 65 through 80 refer to Table 3 on page 11 and the associated work sheet on page 12.

For items 65 through 72 write the correct amount on your answer sheet that should appear in a trial balance column of the work sheet for the year ended December 31, 2005.

 *65. Accounts Receivable




66. Merchandise Inventory

67. Supplies




68. Prepaid Insurance

 *69. Accounts Payable

70. C. Birdseye, Capital

71. Sales

72. Purchases

Group 11 continued

Continue to refer to the information in Table 3 and the associated work sheet.  For items 73 through 76 write “Yes” if the answer is yes; write “No” if it is no.

73. Will the adjustment to the Supplies account include a credit of $3,444?

74. Will the adjustment for expired insurance include a debit to Insurance Expense

      for $990?

75. Will the adjustment to update the correct amount of merchandise inventory on hand

      at the end of the year include a debit to Merchandise Inventory for $1,458?

76. Is the balancing total of the Trial Balance columns $154,519?

Continue to refer to the information in Table 3 and the associated work sheet.  For items 77 through 80 write the correct amount on your answer sheet.

 *77. What is the work sheet subtotal (before net income or net loss is calculated) in the 


Income Statement debit column?
 *78. What is the work sheet subtotal (before net income or net loss is calculated) in the 


Balance Sheet debit column?
 *79. What is the amount of gross profit?
**80. What is net income or net loss?
This is the end of the exam.  Please hold your exam and answer sheet until the contest director calls for them.  Thank you.
Table 1
(for questions 35 through 53)

	A
	   cease command

	B
	   check

	C
	   Circular E, Employer’s Tax Guide

	D
	   deposit slip

	E
	   dishonored check

	F
	   employee earnings record

	G
	   Form 940

	H
	   Form 941

	I
	   Form W-2

	J
	   Form W-4

	K
	   itemized shipping report

	L
	   itemized transmittal

	M
	   journal

	N
	   memorandum

	O
	   packing slip

	P
	   payment order

	Q
	   payroll register

	R
	   Payroll Taxes for Dummies

	S
	   petty cash slip

	T
	   purchase invoice

	U
	   purchase order

	V
	   purchase requisition

	W
	   receipt

	X
	   repudiated check

	Y
	   stop payment order

	Z
	   transaction diary


Table 2

(For questions 58 through 64)

Beekler Co.’s payroll policies and other information:

	Payroll Period
	Weekly

	Standard Work Week
	40 hours

	Overtime Pay
	Time and a half for hours over standard

	Social Security Rate (employer and employee)
	6.2% on gross earnings up to $94,200 per employee

	Medicare Rate
	1.45% on all gross wages

	FUTA (federal unemployment tax)
	.8% on first $7,000 gross earnings per employee

	SUTA (state unemployment tax)
	2.4% on first $9,000 gross earnings per employee

	Cherry Maples’ standard rate of pay
	$__?__ per hour


	Week Ending
	Standard

Hours
	OT

Hours
	Gross

Earnings
	Social Security Tax
	Medicare Tax
	Federal Income 

Tax
	Net

Pay

	1st Qtr.
	
	
	3,740.00
	231.88
	54.23
	380.00
	3,073.89

	
	
	
	
	
	
	
	

	Apr  7
	40
	
	920.00
	57.04
	13.34
	95.00
	754.62

	14
	40
	
	
	
	14.21
	100.00
	805.03

	21
	40
	0
	800.00
	49.60
	11.60
	80.00
	658.80

	28
	40
	
	
	64.48
	
	110.00
	850.44

	
	
	
	
	
	
	
	

	May  5
	40
	
	
	49.60
	11.60
	80.00
	

	12
	40
	
	1,100.00
	
	
	110.00
	

	19
	40
	
	1,160.00
	71.92
	16.82
	120.00
	951.26

	26
	40
	
	860.00
	
	
	90.00
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


TABLE  3

(for questions 65 through 80)

Clarence Birdseye is the owner of Birdseye View.  The selected amounts that appear on the work sheet on page 12 are accurate.  

It is company policy to purchase on account only merchandise for resale.  All other assets and expenses must be paid for by check rather than purchased on account.  Some of the merchandise vendors used in 2005 did not allow purchases on account by Birdseye View and required that payment by check be received before they would ship the items.
Additional Information:
· Supplies:


Inventory on January 1, 2005………...$   956


Purchased during 2005………………… 3,748


Inventory on December 31, 2005…..… 1,260

· Prepaid Insurance:


Unexpired as of January 1, 2005……. $    660


Policy purchased during 2005……….    1,980


Unexpired as of December 31, 2005…      990

· Merchandise Inventory:


January 1, 2005……………………. $8,755


December 31, 2005…………………  7,297

· Capital account balance on January 1, 2005 was $58,726.

· Capital contributions made by the owner in 2005 were $25,000.

· Cash withdrawals by owner $8,000

· Sales:  cash………….. $45,872

                  on account….    16,968

· Purchases of merchandise: 
cash…………… $  8,299



 






on account……   27,947

· Accounts Receivable balance on January 1, 2005 was $3,654

· Accounts Payable balance on January 1, 2005 was $3,779

· Received on account from customers $14,834

· Paid on account to vendors $26,743

UIL Accounting District 2006-D2





















page 12
	Birdseye View

	Work Sheet

	For the Year Ended December 31, 2005

	Account Title
	Trial Balance
	Adjustments
	Adjusted Trial Balance
	Income Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash in Bank
	25,190
	
	
	
	
	
	
	
	
	

	Accounts Receivable
	
	
	
	
	
	
	
	
	
	

	Merchandise Inventory
	
	
	
	
	
	
	
	
	
	

	Supplies
	
	
	
	
	
	
	
	
	
	

	Prepaid Insurance
	
	
	
	
	
	
	
	
	
	

	Equipment
	42,690
	
	
	
	
	
	
	
	
	

	Accounts Payable
	
	
	
	
	
	
	
	
	
	

	C. Birdseye, Capital
	
	
	
	
	
	
	
	
	
	

	C. Birdseye, Drawing
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	Sales
	
	
	
	
	
	
	
	
	
	

	Purchases
	
	
	
	
	
	
	
	
	
	

	Rent Expense
	11,520
	
	
	
	
	
	
	
	
	

	Utilities Expense
	3,874
	
	
	
	
	
	
	
	
	

	Advertising Expense
	2,142
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	


